Nombres Décimaux (H)

Trouvez chaque différence.

103,2 - 0,9146 = 17,21 - 3,895 =
6768 - 734,6 = 3059 - 2443 =
309,9 - 0,2705 = 4,081 - 0,2754 =
376,4 - 88,91 = 51,97 -5,161 =
7942 - 809 = 9,402 - 8,559 =
264,9 - 5,227 = 80,88 - 42,89 =
3291 -174,4 = 6,896 - 0,6945 =
4414 - 845 = 708 - 91,86 =
67,25 -0,3924 = 64,23 - 4,077 =
46,67 - 0,877 = 85,69 - 56,61 =
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Nombres Decimaux (H) Solutions

Trouvez chaque différence.

103,2 - 0,9146 = 102,2854 17,21 - 3,895 = 13,315
6768 - 734,6 = 6033,4 3059 - 244,3 =2814,7
309,9 - 0,2705 = 309,6295 4,081 - 0,2754 = 3,8056

376,4 - 88,91 =287,49

7942 - 809 = 7133

264.,9 - 5,227 = 259,673

3291 -174,4=13116,6

4414 - 845 = 3569

67,25 -0,3924 = 66,8576

46,67 - 0,877 = 45,793

51,97 - 5,161 = 46,809

9,402 - 8,559 = 0,843

80,88 - 42,89 =37,99

6,896 - 0,6945 = 6,2015

708 - 91,86 = 616,14

64,23 - 4,077 = 60,153

85,69 - 56,61 = 29,08
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